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PreCalculus
Midterm Exam Review
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Chapters 2/7
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In 4 - 6, evaluate each expression WITHOUT A CALCULATOR
log,, 12%
4‘L_ e 3 Q _ 5 0
e Sl e -G2) 6. tog,320-1o8.5 204 (5
= fajq ‘df?"} -":é

7. Use the change of base formula to evaluate: logs7 =
67 = b7 209

L5
1|I'x3y2u_: /Ei,_ ('X?yz)lh. )
z T L =

8. Use the properties of logarithms to expand: In

i
3
Yy (0 lny”) Ao 2 _,-f D R
9. Use the properties of logarithms to expres : e-fo g expression as a single logarithm:
3n(x—-2)+2h(x+2) = ,&-«,(x~2)3 (x+2)~

When necessary, round your result to the nearest

solve each equation algebraically.

In 10 - 12,
thousandth.
10. 3% -5=9 11. 3+log, 3x =5 12. log{x}+log(x—2122
= o 1{) -
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&~ i ;3. The number of bacteria present in culture N(#) at time t hours is given by N(f) =3000(2)".

a. What is the initial population?
3000 bocter a

b. How much bacteria are present after 24 hours? N(249 ) = F000 {2 )2?’ = S OGe Rl 10
&é; (‘/—f_"_/’; [l

c. How long will it take the population to  triple in size?

,Z) é:/!i"';:%,f:; 5
%w Fo0( % /,5%

ey hors
14. The number of students infected with flu after ¢ days at Washington High School is modeled by the
following function: Pit)= e
© 14997 109  y Y f
a. What was the initial number of infected students? /()= /+99 109 ; VI
b. After 5 days, how many students will be infected? b R 7
A5)= Lo Jr%;_ﬁi_ﬁ ~ 1) 13 Shvdents (117 fﬁ..ad.&,.iﬁ
Y (1132 - e
c. What is the ﬁ;axﬁnum number of students that will be infected? @ g0 ok it ;\;}

#15 Y= 2220 S

4¢0.39. ) .
15. The number of bac n?;{n af cu{: g'f wafer is modeled by a logistic curve. The Jimit to growth of the bacteria

is 3500. The initial bacteria count is 100. After 3 hours, the bacteria count rises to 1450. Write the logistic
function of the bacteria count.
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Chapter 4, Part I S T b3z
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16. Convert the angle measure from degrees to radians. g ‘?'f 346

a)-270" = [ _ 37 ) b) 144 =) 477
'z 5

17. Convert the angle measure from radians to degrees.
133':

Y20° -39°

18. a.) If the Earth rotates once every 24 hours, find the angular speed in radianshowr

-~y v f“d&{_! - il
’;L{rszdjﬁ - /"’ia . C[LFMM//EWf ';.‘_“_, | 2 f,f:/ !J'
LS,
b.) If a fan rotates 30 times in a minute, find the angular speed in radians/hour. /?:’ﬂ'f" / J
JO rotrtonsr, L0 pya., ZAprod - ;:wafrma hor
‘f’.r-r:,r-.tui-f-ﬁ ‘." A ’.’/.d;(. / : /;’3’0? 7._?17//‘{“,{,}—
c.) If a ferris wheel rotates 4 times per minute, find the in radians/second. -
_ N
/7{ .r*af?lfmfvr ./ ezl " j??‘fﬂp{,:a»jf - ‘,2;';‘— .,/J(( —~ ﬁ o/ {’)
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19. Find the six trigonometric ratios of Z4.

A 4
v = —
sinde 5 LreA =g
9 41 q 4l
(oS A= = e A= 3
= 49 z

; ; 4 .
20. Given sin& =— in Quadrant I, find the remaining 5 trig ratios.

5
> - 3 re0=2
4 cor@= /s 45;_3
3 tond= 7 o=
LR N cotd= 17

. 17 .
21. Given cscf = ? in Quadrant I, find the remaining 5 trig ratios.

s % 2
< 54 = 17¥273
2? cosrdi= @_ gee & "E}T]_'
do~dd = 71213 Cot &= f__ﬁ}_
272, Use a calculator to evaluate each function. 273 o
a.) sin41° b.) cot71.5° c.) ootlirg d.) tanigr- - fﬁ‘?ffﬁ-
A / TR, —
— o TustORETE s gha

t of a tree. He walks exactly 100 feet from the base of the tree and looks
\ the top of the tree is 33°. How tall is the tree?

P o
zéé‘""%} #gﬁd
/ﬁﬂ(/}!’*’” %30),

23. John wants to measure the hei@

a/f &

st. The angle of depression from the bird to the feet of an observer standing
is 35°. The distance from the bird to the observer is 25 meters. How tall is the

TP 35?) * ;-,,%:
o5 o35 GH 2

=
- i

24. A bird sits on top of a lamppo
away from the lamppost
lamppost?
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26. Find the indicated trigonometric value in the specified quadrant.

a) 8=52"

a.) secf = —%; o,
o

Chapter 4, Part II |

27. Find the period and amplitude.
2
a) y=3sin2x b.) y=gsmﬂx )
ap™ g arp” 3
;Jﬁ?{-:' z— = . H-
= per s e L
28. Identify the transformation from f tog.
f(x)=sinx b. f(x)=cosx
2 g(x)=—4sinx ) g(x) =—cos(x = 7) _—
. reflechon 7 KB 5 plgfjearis "1 i‘
by . i Evniel, P
2 Frcal Shre e i
vf%cﬁf of 4 i

29, Find the max and min.
b) y= %sin(x— )

a) y=3sinx
min s =2 oy I

b.) coté = =3, oil sinf = ~___,HG

;m;m{ = ,;/;

e two co-terminal angles (one positive and one negative) for each angle.

-9r 23T
b=y 7, 7
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3 T
=— —_X
c)y 2 cos

A
::-_Z/

f(x) = 4sinzx
c ;
7 g(x)=4sinm—2
ol an? Z
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30. Graph the following: |

a) y=3sin2x-1 b.) y=-cos(2x+ 1) gt c.) y=tanx
A=3 =l
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a.) Sin(arcmni} = _5; I_,r b.) co arcsin%): g—s A

32. Find the exact value of y without a calculator.

ol = %
—gin| == = b.} y = arctan(1)
a) y=sin {EJ ¥ @
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hapter 5

= CoS & (/-Si? Wy = ("af@ﬁ‘ﬁ’fzfﬁj
=bos *0

33. Simplify the expression: cos@ —cos @sin® 6.

__cos’x+sin’x — / "y @
34. Simplify the expression:—2oa™ = et & Cof 2y -lcot "k +71) 7

. : = + JinXeSinX
35. Simplify the expression: cosx +smxfanx. = COfx =y

= forx sinlx _ corx +fff?5f; i S
=5 =

36._Faetor: sin® x +sinx —2: (o ety rorx
(J"fn)( -f-ZJ(f"’-"x‘f)

. sin®x=1 _ A X H NS 1o X ) T
37. Simplify the expression: S T (___,_.ﬁ‘i———— _ A X =]
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